24.04.2020
L.O: To subtract two 2 digit numbers

Please draw a bar model for 5a and 5b.

Example for a bar model based on 10 -4 =6

5a. Write a calculation to match the
image below.

I =

10 (whole amount)
6 | 4

5b. Write a calculation to match the
image below.

it

éa. Use >, < or = fo compare the number

sentences below.

56 - 24

68 - 37 79 - 48

Solve the problem below:

é6a. Anna and Jimmy are subtracting 47

from 98.
40 and 7. Then subtract ¢

I®@| and 8.

Anna
| subtract 7 ones from 8 ones. | '; ;'

subtract 4 tens from 9 tens. -
A

Jimmy

| think you partition 47 into

Whose method is correct? Prove it.

Make sure you work out the answer
to each subtraction problem, so that
you know whether to use <, > or =.
Draw your tens and ones to help.



